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Paid up capital £'250,000

I'lOiTowcd at 4 per <,miiI. ;{75,000

G-jr^.OOO liivcsied at (') per cpiit. r

Expenses . £ 3, 1 '20

Interest on borrowed nioncv 15,000

£.

37,500

1 8,
1
'20

Nctt 19,380

Gives 7| per cent, interest on paid np capital.

Value of the stock ar. this period 15/. 10s. per share.

Paid up capital £250,000
Borrowed at 4 per cent. 500,000

750,000 Invested at C> per cent. = 45,000

Expenses £ 3, 1 20

Interest on borrowed money 20,000— 23,120

Nett 21,880

Gives 8f per cent, interest on capital.

Value of the stock at this period 17/. lO-s per sliare.

I inriiiTfWfc'iiiMfiatTiM'Trm

I have given examples of one quarter and one half of the subscribed

capital being paid up, and the operations of the Company being con-

fined to the employment of that money alone ; I will now give the

result on three quarters and the whole being paid up :

—

Paid up capital . £375,000 Invested at 6 per cent, rz 22,500

Expenses rr 3,120

Gives 5^ per cent, on capital 19,380

Paid up capital £500,000 Invested at 6 per cent. =: 30,000

Expenses n: 3,120

Nett 26,880

Gr.cs 51. Is. 6d. per cent, on capital.


